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1st Month, 1st Week, 6th Day Syllabus: Unit # 1, Revision Test Syllabus (Week-1)

Q.No.1 Encircle the correct answer from the following choices. (1<<<<10====10)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
i. How many components of environment? ââââjjjjwwwwÆÆÆÆÄÄÄÄZZZZbbbbZZZZYYYY÷÷÷÷????

(a) 1 (b) 2 (c) 3 (d) 4

ii. Which of the following is a biotic component of environment?

ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚ââââjjjjwwww»»»»YYYY0000++++ZZZZggggbbbbìììì????
(a) Light gzÝ (b) Air ƒZ (c) Plant 7ŠZ (d) Water 0*ã
iii. Which of the following gas is used by plants?

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÃÃÃÃyyyyÏÏÏÏ’’’’7777ŠŠŠŠ}}}}ZZZZEEEEwwww™™™™DDDD÷÷÷÷????

(a) SO2 (b) CO2 (c) NO2 (d) Cl2

iv. Which of the following element is an essential to life?

ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚ZZZZ&&&&ÍÍÍÍ----....3333ïïïï GGGGGGGGEEEEHHHHiiii0000++++ÏÏÏÏÆÆÆÆaaaa¢¢¢¢zzzzgggg~~~~ìììì????
(a) Gold Î** (b) Silver |g (c) Sodium Îe* (d) Carbon »g0

v. Which of the following is not a fossil fuel? ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚¯̄̄̄ËËËËAAAAwwww7777ìììì????

(a) Coal Ã́ (b) Oil % (c) Natural gas ŠgC’ (d) Water 0*ã

vi. Which of the following are producers? ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃyyyy6666,,,,zzzzeeee----uuuuiiii÷÷÷÷????

(a) Fungi ¡ð (b) Bacteria Ùc* (c) Animals Yâg (d) Plants 7Š}

vii. The study of relationship between biotic and abiotic components of an

ecosystem is called: ZZZZrrrrÄÄÄÄÆÆÆÆ!!!!****ÇÇÇÇSSSS----ZZZZzzzzggggZZZZ}}}}!!!!****ÇÇÇÇSSSS----ZZZZbbbbZZZZÆÆÆÆŠŠŠŠggggxxxxyyyymmmm»»»»____····BBBB@@@@****ìììì::::
(a) Sociology ÎâßY (b) Ecology ZrßY (c) Biology !*ÇßY (d) Physics ‚Û¾

viii. A fox takes___ in its diet. ggggììììXXXX ______ ZZZZqqqq----ßßßß&&&&××××~~~~ZZZZKKKKppppggggZZZZuuuu~~~~

(a) Rabbit yÍl (b) Rat a; (c) Squirrel *~ (d) All of these tÓx
ix. The dead bodies of the organisms are consumed by:

''''''''YYYY0000++++ZZZZggggzzzzVVVVÆÆÆÆ%%%%ŠŠŠŠ{{{{ZZZZ����xxxxZZZZEEEEwwww™™™™DDDD÷÷÷÷XXXX

(a) Predators 6,i+ñi (b) Consumers +-%i

(c) Decomposers e~ìigi (d) Secondary consumers ²g~+-%i

x. The eclogical pyramid of upper level consist of :

ZZZZrrrrßßßßŠŠŠŠ0000****]]]],,,,ZZZZçççç»»»»!!!!****ÑÑÑÑððððCCCCwwww''''''''6666,,,,ŒŒŒŒƒƒƒƒ@@@@****ììììXXXX
(a) Primary consumers 6,ZÎ~+-%i (b) Secondary consumers ²g~+-%i

(c) Tertiary consumers R,Ñ~+-%i (d) All of these tÓx
Q.No.2. Write short answers. (2<<<<6====12) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX
(i) Define ecosystem. ZrÄÅ°p™,X

(ii) What happen during decomposition and combustion of biomass?

!*ÇâkÅe~ìicZzg
²)4mj

è
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EÆŠzgZyHƒ@*ì?

(iii)Differetiate between primary consumers and secondary consumers

6,ZÎ~+-%iZzgCg~+-%iÆŠgxy�ÛtÒy™,X

(iv) What is food chain? ¯euHì?

(v) What are producers? 6,ze-uiH÷?

(vi) Define trophic level.                          R,Z’CwÅ°p™,X

Q.No.3. Write long answer. (3) ----����ZZZZ[[[[KKKKXXXX
(i) Write a note on ecologiacal pyramid. ZrßŠ0*],Zç6,Zq-âK̂X
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